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2. Given ¢ is a nonzero constant, 1}_%_7_ = 2

3. Iffix) = € g(x), where g(0) = 2 and g'(0) = 5, find £ (0).
4. Find the two points on the curve y = x* — 2x? - x that have a common tangent line.
5. Apiece of wire 10 m long is cut into two pieces. One piece is bent into a square and the other is

bent into an equilateral triangle. How should the wire be cut 80 that the total area enclosed is a

mintmum?
6. | w?/;=("‘3)6 ey ?
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7. Let a, and ¢, be sequences of real number such that ay converges to 0, and ¢,a’ converges to

0. Then limc, log(l+a,)-ac, = 9
8. J‘:xmse—sxdx _ . -?
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10.Find the volume of the solid that lies under the paraboloid z = x* +,7, abo{/e the xy-plane, and
inside the cylinder x* + 3* = 2x.




